A & 0ol & AF S H Al A

A SBESH
= 200 Mol
2 0 210 ZaEMe=Y
gt 1 216 Ol At==g (2l &R)
2N -F- 285 Ofl & oH HE 0l At Hlws2
=S Al 6,620,000 7,108,000 488,000
SZES 6,620,000 7,108,000 488,000
200 A2l 3,000 3,184 A184
210 &A= 3,000 3,184 N84
216 Ol Xt==& 3,000 3,184 A184
216-01 SZ0=0I Xt 3,000 3,184 N84
OZZ30= 0lX==g 3,000,000 14! 3,000
50 Ex= 3,755,407 3,774,736 19,329
510 2 NEX=S 3,755,407 3,774,736 19,329
511 =21EEX=S 3,755,407 3,774,736 19,329
511-03 J1=2 3,755,407 3,774,736 219,329
odsgxAH2A2 = 3,755,407
—E3I|=ANE &XIH 1,128,000
- 2000 H=F=Al ol=2t018H| BTL SH=
483,000,000 14! 483,000
- 20108 G==Al ol=2HEH| BIL SUE
307,000,000 141 307,000
BH(AE)sHE 338,000,000& %14 338,000
—S3II=AE 234 1,274,135
3 ZANE 2E S3ot+XclAlE
1,116,039,000& « 14! 1,116,039
OtSot=HelAlE 29 158,006,000& x 14 158,096
—HSSAIHAE OIHE It 66,786,000 *14! 66,786
—HiESAZAIE 2LIEEH 11,387,000 * 14! 11,387
—IIEEhR 33X2Ad 22d| X2
406,300,000& « 14! 406,300
—Xotd AIESK HESHZAIE EXIAY
36,000,000 *14! 36,000
—ot& ot M| ZSHALY 8,572,000 «14 8,572
—=S2H FUX AL (LEXAALY)
824,227 ,000& x 141 824,227
700 28 =USH LR HH 2,861,593 3,330,080 A468,487
710 282S 242,593 91,000 151,593
711 0= 242,593 91,000 151,593
71101 =MIAIL 0= 242,593 91,000 151,593
O=MALNH= 242,593,000& 14! 242,593
720 LHE o cH 2,619,000 3,239,080 620,080
721 = 2,619,000 3,239,080 A\620,080




09 e 034 4T

L 720 i

IARSISE (Sl Mg
CVRE- T Ol & o T S0 &bl Hnz2
721-08 DIEtEI M H QI 2,619,000 3,239,080 620,080
Ogers &2 2,619,000
—BTGIEHSIAIL SHAA =T ZAH)
412,000,00024%14! 412,000
—ZTEHEIAIL 2g2el S|
450,000,002 %14! 450,000
—DRGtEHIIAIE MR $2144|
950,000, 00024 *14! 950,000
—BTolHLIAE BOE S2|24|
527,000, 00024 %14! 527,000
—BIoHEHEIAIL X Hel|
1,000, 0002 *1007H A 100,000

—330t=HMelAIE (FI1H)J =8

180,000,000 *14! 180,000




Al £ Ol & AL & Al A

025 20il&t =EIHLSEIA HF
A 2EES
I - H= 2el(sF/dotek - +E)
ool SZOHH 2| (FERESESIA) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHES 6,620,000 7,108,000 488,000
Il 3,755,407
Al 2,864,593
Q- M= 22| (BB/YotE - =F) 4,375,961 4,727,110 A351,149
Jl 1,511,368
Al 2,864,593
FEOfM 2| (=EINESEEA) 4,375,961 4,727,110 A351,149
Jl 1,511,368
Al 2,864,593
F=H B A2 83,796 87,184 23,388
201 er23 | 75,796 76,184 A388
01 At2teltl 3,036 3,424 388
OctaZAIE dets 2
240,000 x5 *15 1,200
O=22% 82= N&
239,000 45 956
O=Z=2& s+ &
55,000& * 169K 880
2 5234l 72,760 72,760 0
O 4,07 =Z2MN =2
230,000 * 1504 Axx 12 41,400
OSBEAML =E2HA =8
100,000& * 102 1,000
Octa s +=228M =52
230,000& * 11 A+ 12 30,360
202 04l 6.000 6,000
01 =LHAHI 6,000 6,000
O AIZZ AL 0
90,0002 x1& 30 2,700
OQESHEHM AL 048]
90,0003 2+ 900
OSd2eg gsts ol
20,0003 x2H+52 x 122 2,400
206 M=l 2,000 5,000 /3,000
01 M=4l 2,000 5,000 A3,000
O=22Zgl 85 € H¥E Mg 7
2,000,000 %14 2,000
OrSot=ZAlE &X 2,770,404 3,246,080 A475,676
201 223 438,404 519,080 N80,676
01 At22t2lH] 1,500 1,500 0
O3&ot=HelAlE 2 82 HEA M
1,500,000 *14] 1,500
02 s5=34l 436,904 517,580 A\80,676
O=So+XelANE KA WEHAHI
22,800,000 x 14 22,800




FA SEES
Hu: Q. [4 2ol (2Y/NOAE - 2F)
Eel: SRS 2L (FEMESESIA) (&9 &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O33ot=HMelNd a3
500,000 *14] 500
OS&otxcl g =2BAt 5E S Al
412,000,000 *14] 412,000
OAr2otexel 2414 HHEa 0
20,0502 +80E 1,604
401 AlZHIZ SO 2,332,000 2,727,000 A395,000
01 AlZHI 2,332,000 2,727,000 395,000
OS&ot=xelAlE 2gac| SHH|
450,000,000 * 14 450,000
OS&otrXelAlE XMeld wcl+=dt|
950,000,000 *14] 950,000
OS3ot-xelANE BEE 4|
527,000,000 x14] 527,000
O=o+=xelANE NS JUHEI 5=
=4 125,000,000 *14] 125,000
O3&ot=HMelAlE =ikl XMeldl
1,000, 0002 * 10094 £ 100,000
O83BotrrelAlE (FI1H)JI=8 e
180,000,000 *14] 180,000
(s 0lHHIHEIE 66,786 71,086 24,300
Jl 66,786
207 AR 66,786 71,086 4,300
7l 66,786
01 A2E9Y| 66,786 71,086 4,300
OLESEM AEAHZ Ol E It
66,786,000 * 14! 66,786
Il 66,786
(RSS2 BHEAZAE 2LIHE 11,387 11,961 A574
) 11,387
207 ARl 11,387 11,961 A574
Il 11,387
01 A S| 11,387 11,961 A574
OtiEaZAlE 2LIEHE
11,387,000 * 14} 11,387
7l 11,387
(2VEZIIZANE 2L OISo=ZAE 2 158,096 225,638 N67,542
Il 158,096
201 Ler23| 158,096 225,638 ABT7,542
Jl 158,096
2 S52g4l 158,096 225,638 ABT7,542
OltSot==ZAlE &IIe=s
100,000,000 *14] 100,000
Il 100,000
Oltstt=ZAld S4Rs
58,006,000 * 14 58,006




SN 225
Q- M4 H2|(H/YOSE - +7)
gl sEjd 2| (BN SESH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | 58,09
(2I=2E 2SHAL 22l X2 406,300 514,141 A107,841
| 406,300
307 D120 406,300 514, 141 A107,841
| 406,300
03 DIIEH A 2| B X 406,300 514, 141 A107,841
OJE2n ZBH2IAE 22|
406,300,000 %141 406,300
| 406,300
(S)otEst= X0| FHetArd 8,572 10,320 A1,748
| 8,572
206 24| 8,572 10,320 A1,748
| 8,572
RETT 8,572 10,320 A1,748
OBHEMI| 42 MH2H|
8,572,000 *14! 8,572
| 8,572
(RS AR FOUX A (LT RAI) 824,227 0 824,227
| 824,227
101 Q1218 3,400 0 3,400
| 3,400
VPIETEEPEERS 3,400 0 3,400
o2 = 3,400,00021x 14! 3,400
| 3,400
301 LEHER 3 79,016 0 79,016
| 79,016
14 JIEH A2 79,016 0 79,016
Onlg2s227Y 32,608,000 %141 32,603
p 32,603
ogzsg 46,413,000 %141 46,413
| 46,413
307 D120 532,937 0 532,937
| 532,937
04 QIZFAAIY E X 532,937 0 532,937
ODFE =X A 532,987,000+ 14! 532,937
| 53,937
401 Al£HI L2 O] 29,463 0 29,463
| 29,463
01 Al&Hl 29,463 0 29,463
Of+az 43 5,000,000 144 5,000
p 5,000
OCCTV &I 24,463,0002 14} 24,463
ol 24,463




2N By
]

=]
o @ - Ha 22)(2Y/AGHEE - 2F)
LB IEEEED)

el S22 (SEMNESESIH (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 179,411 0 179,411
Jl 179,411
02 RIENEASEZ(0IETHR) 179,411 0 179,411
OZsAM= 114,310,000 * 14! 114,310
7l 114,310
ODIZBEAE 24
30,758,000 * 14! 30,758
Jl 30,758
O&1 £X 10,343,000 x 14 10,343
Il 10,343
OEXA &X 24,000,000& * 14 24,000
) 24,000
(D)2 AZEX HIELSMZAIE XA 36,000 0 36,000
Jl 36,000
401 AIEHIZL SR THY] 36,000 0 36,000
Jl 36,000
01 Al&H| 36,000 0 36,000
O(2)x2d IBSX HIEENLAIL &
XA 36,000,000 *14] 36,000
Il 36,000
Oild1d| 10,393 0 10,393
801 ofielH 10,393 0 10,393
01 Lerolblbl 10,393 0 10,393
Oodil 10,393,000 * 14 10,393
Weas(sE2sh) (8d/4otsr - +8) 2,244,039 2,380,890 136,851
Il 2,244,039
WRHHXIE(EIHNESESIA) 2,244,039 2,380,890 136,851
Il 2,244,039
(R)EZIIEAE X St=2A(WRAHHXIE) 1,128,000 1,224,000 296,000
Jl 1,128,000
701 JIEHRIHSEES 1,128,000 1,224,000 296,000
Jl 1,128,000
01 JIEt=I AN ES 338,000 0 338,000
OgUi(&tE) s0E
338,000,000 *14] 338,000
Il 338,000
03 BIIESEAN=2HES 790,000 1,224,000 434,000
02000 E=FAl ot==2HZHIBILEUHE
483,000,000 *14] 483,000
Il 483,000
02010 E=FAl ot==2 N ZHIBILEUHE
307,000,000 *14] 307,000
Il 307,000




2A:
Y ZH -
(=2 K

Ctl:

0 &

MEE
Ofl &k2h

Il

1,116,039

1,116,039

1,156,890

v

1,116,039
1,116,039

1,156,890

1,116,039,000& « 14!

Jl

1,116,039

1,116,039
1,116,039

1,156,890






